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· What is HEP
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· What areinteractions of fundamental particles
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· We know that the SM is incomplete
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·How to look for BSM?

· Trying to developgood microscopes so we

can see smaller
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Atom Nucleus proton
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To see smaller than atoms, need objects with
smaller wavelengths.

·Particle -matter duality
I
· Can look at smaller distances by collicing
objects with large energingwithobject.

· Particle colliders
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· Best microscope:Large Hadron Collider
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·What we measure:
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Simulation:Calculate expectation values

of time evolutionoperator.
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infinimensionalHilbertspan

· What is a GFT

·Afield theory is described in terms offields
E(X), B(x)

· Infinitely many points in space
· Infinitelymany possible field values
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